A £ 0l &8 A E Ml A

2
SHEHZ (LSS /P LEH=2])
QMR EERE)
x T HEAS =
-‘?—H * Iﬂi-" [:I'Tl(S’—D:") * HI-‘?—A"% * -}5’5‘% 01|An_|'(l|H 01|,\|.o|.| HlDLsDDI'
94,342,187 87,018,885 7,323,302
= 32,932
= 99,354
Al 94,209,901
SAHze|(LetsS T/ duL i 2l) 2,058,802 110,316 1,948,486
= 75,354
Al 1,983,448
HI A 22| 2,058,802 110,316 1,948,486
T 75,354
Al 1,983,448
248 Y dH2te 1,945,771 110,316 1,835,455
308 AXISHMSOIA 1,945,771 110,316 1,835,455
12 JIEtRE 3 1,945,771 110,316 1,835,455
OHNgal d=ZsAINLEEH NUXHH fE=
1,945,771,000& * 14| 1,945,771
(D)EISAIXBEH22EYI 113,031 0 113,031
T 75,354
Al 37,677
101 Cl24b| 17,745 0 17,745
= 11,830
Al 5,915
04 D122 2 RS E= 17,745 0 17,745
OEHASR SAERH SAIAMS T
17,745,000& * 14| 17,745
< 11,830
Al 5,915
201 Let2Z| 70,286 0 70,286
= 46,858
Al 23,428
01 At2teld] 64,762 0 64,762
Oget=2H| 37,162
—EHYBEA 2AF ARBE S 7Y
37,162,000& * 1A 37,162
= 24,776
Al 12,386
O=E] 27,600
—EHYRET S204AlH|
27,600,000& * 1A 27,600
< 18,400
Al 9,200
02 2323l 5,524 0 5,524
OHAEHAD RERF 5,524,000& * 14 5,524
& 3,682
Al 1,842
202 Ol 25,000 0 25,000
< 16,666




24 20
MR DI (LHBDUT/AEL N z))
Sl lalH )RR (242 &)
SA - H - C9l(3) - HIRAR - BaS Of e el HI DS
Al 8,334
01 204l 25,000 0 25,000
O&HERFA =U 0| 25,000,000 = 14 25,000
= 16,666
Al 8,334
NYeiy A2 2sH(LetS3d/Leed) 6,831,3% 6,349,891 481,503
MR BN 2L 456,780 408,212 48,568
A2 174,577 246,209 AT1,632
101 e124H] 1,397 33,069 A21,672
04 J1IZHHI22 XS24+ 1,397 33,069 A21,672
OFXIEHAALR A A2 11,397
-2 ¢ 36,6408 = 247 9,051
—FRrd 36,6402 * 52== 1,906
—dMRaEFIITY 36,6402 = 12& 440
201 k=g 163,180 213,140 249,960
01 At22teld] 35,360 30,360 5,000
OFAAIEBS 7Y 22,760
—SCIAIE 5,000& » 108 * 122 600
—H SR 10,000 » 5& = 12& 600
—HAES 20,0002 = 105 122 2,400
—3Ed 2SS
20,0008 » 1302 » 123 3,120
—3&X 30,0008 = 330 » 123 11,880
—BHEES 26,0008 = 1312 » 123 4,056
— Al 104,000 = 14] 104
OFEAI A4S 82 oHHE XX
1,000,000& * 504 5,000
OZASHDISE flet Ol=XE St
150,000& = 128 * 4271 7,200
OZzE 292 7Y
200,000& * 1& = 23 400
02 S52gH| 127,820 182,780 54,960
ORI HHIAIAY 22
10,0002 * 5344 * 12 69,960
OXIEZUADIAIAE 22|
35,0008 » 530 » 123 22,260
OFAICCTV &l 2+ 1,000,000& * 22 2,000
OSHS TAL HIgEAIAE 2]
45,0003 * 260 + 12 14,040
ORdes 22 580,000& * 12 6,960
ONXELE R S| AIERs
15,0003 » 7004 = 12 12,600
Azl 282,203 162,003 120,200




FA SF
) LY oz 2sHLL3SHUY /L)
Eel: FAIR AL (Sl &)
% _ - HET
A - ZH - HRA(3) - MIFAY - BES O kR 01l AkoH HlwsSZ
201 =g 192,203 162,003 30,200
01 A2l 15,140 15,140 0
OHZIISZHCIAIAS(RIS) Hal Z278 2
15,000,000 » 14| 15,000
OJI=2EIMols] A4 ¢
70,0002 = 28 * 13 140
02 SZ2% 177,063 146,863 30,200
OHEFEIIS2AIAIA(RIS) SHERAN S22t
120,760,000& * 7/100 * 1.1 9,299
OEEIISA2IAIAL(RNS) T202 KX 24| 21,91
—JIszel 42 W
132,695,440 * 10/100 * 1.1 14,597
—J|I=2e S8 WIS HE)
6,694,380 * 1.1 7,364
OHpPII=E=S Wi ==& 150,000& * 40& 6,000
og=2gs)l FAZ=
18,218, 1102 * 7/100 * 1.1 1,403
O=2NES 5,000,000& 12 60,000
OABIXAN & 25 2EZ
800,000& * 12& 9,600
OLS8A =Y &5 2,600,000& * 53 13,000
OgFL44Rl 25 5003 = 1,30024 » 12& 7,800
OJIEH AIBFE LQERS(SXZ S)
4,000,000 = 122 48,000
207 A=K 90,000 0 90,000
02 MA&HEH 90,000 0 90,000
O2-UtAIA" MXDISE Fel - 0l2Ate
90,000,000 » 14| 90,000
sFHgesHEy 6,374,614 5,940,079 434,535
QIAr2HC 920,839 833,338 87,501
101 12AAH] 753,412 599,450 153,962
04 JIZtHIZ22 XS 2= 753,412 599,450 153,962
OELFI UA 23,085
-2 4 73,2803 * 38 * 90 19,786
—F5rd 73,280 * 3 * 127 2,639
—GAxg 73,2803 * 3% * 33 660
O=0t=A A 67,987
-2 ¢ 73,280 * 5% » 150 54,960
—FF/+d 73,2803 * 5 = 21 7,695
—AAx=E 73,2808 * 5% = 5F 1,832
—&Ex= 3,500,000 * 1& 3,500
OIIZHNZ2 At =2IH=FES
5,800,000,000& = 4.5% 261,000




2M: B2
HA: (YUHE ozt As(UVTDUE/AVHE)
Crel: BomglosHs (Srel )
S - B ERI(SH) - MISAY - BAS Of ko cla SimE==]
. (=2 - S/ == 0:"&.0_‘” WsSa
OIRIH22Xt HALEERE=
5,800,000,000& * 3.5% 203,000
OJRHHZ2ZX HIIQAEHEREHS
203,000,000 * 11.99% 24,340
OJIZtMZ22 X DEEERES
5,800,000,000& * 1.95% 113,100
OJI2ZHHIZ2 2Rt AHEEZ
5,800,000,000& * 1.05% 60,900
201 Let2 | 135,920 233,888 A97,968
01 AtR2telt| 130,920 136,753 Ab,833
OMHOHHEIZRIP| SJEt B 56,850
—otdae| RIE 5,000& * 250 * 12& 15,000
—SB2ae| R 6,5002 * 250 » 128 19,500
—2eZ=A 2 22A WE AS
15,000,000& * 14l 15,000
—SIg8E} 28Y 8
7,350,000& = 14! 7,350
OYBN Y HEE £ R0l 7,000
—HX 4,000& = 1,5000H 6,000
—UXK 500& * 2,00004 1,000
OSIAT ZRH S M 2 72
500,000& * 50 25,000
OEIAX JIEE ZAHH S HE &+
200,000& = 50 10,000
OElA] Z=HIZA MZ 1,500,000& * 23| 3,000
OElgal &=0) 300,000& * 23| 600
OZRHS M === 13,000& * 25004 3,250
OZLAZ H0IA Y 220 7
10,000& * 2504 2,500
O HFE M 5,000& * 25004 1,250
OQAMRIAS] 3lo &A =
0,000& * 5% » 303 10,500
OQIAL &2tE M4l Kol 4,670
—QIADIZIIE MA S 4,670,000& * 14! 4,670
OS2 uYl 7= 6,300
—Xg&EE 3,000& * 1002 » 128 3,600
— S AIZH 2,500% * 0T * 12& 2,700
02 2222l 5,000 97,135 292,135
OlHz 23 HEEEEE
20,000& *» 250 5,000
308 KtXISHHISOIH 31,507 0 31,507
1 SO 2SOICHEH B A X EAISH] 31,507 0 31,507
OXIMIO EEXLAIANEEAAE 25 & 2
NE SEH 31,507,000& = 1A 31,507
SRRUSSHLS 904,140 865,300 38,840




SH: B2
BE: TYE Y YSHLNDIYE/ L)
o DRAADS2SA (Sr9): @)
A - B SRA(Z) - MRAY - BES Ol &k OH ddx HwsS2
Oil &k
201 k2| 341,100 294,940 46,160
01 Al 2l 341,100 294,940 46,160
032 N2 S0
1,508 * 1,000% 1,500
032 2l=nsy| 183,800
—S ATHLR DRV
22,0002 * 32 * 300 19,800
~Z9R DSEIIZDS
200,002 * 3002 60,000
A TIE=yn/ES 330,0002! * 1002 33,000
—52ERIC B 1,000,008 * 20% 20,000
—ERHYE I 4,000,0008 * 4% 16,000
— ORI T 10,000,008 * 1% 10,000
— Aol RS 50,0008 * 200% 0,000
—Z9R 28NS 500,002 * 30% 15,000
O=LLIEET 10,000,008 * 141 10,000
O N2y YsDS
20,000,002 * 14! 20,000
ONRZRY BZAY YsDS
20,000,008 * 14! 20,000
OEPog Sy Yo
50,0008 * 100% 15,000
OPRDIZ 9l DS 30,000,008 * 14! 30,000
OB SNSUDS 20,000,008 * 14! 20,000
OSS OG0l DS 480,000 * 30 * 23] 28,800
OZ2RY DS LAZ L Ol 2,000
—JI=(s3) 400,000 * 1AI2¢ * 123l 4,800
—ZIHS3) 300,002 * 1AI2¢ * 123l 3,600
—E15(30%) 70,0002 * 30% * 1231 2,520
—ofH 90,0002 * 12 * 123 1,080
202 Of| 563,040 570,360 A7,320
05 322 R0 563,040 570,360 A7,320
OB2ADS0| 563,040
~C AXMNLH D= 30,0002 * 3002 90,000
—Z9R ISEAIR 1S
400,0002! * 3002 120,000
— ARSI 1,600,008 * 100% 160,000
—53 STUHDH 3,000,0002 * 202 60,000
— BRI HYE D
2,500,002 * 4% + 102 100,000
—OlH2IHDE 2,500,009 * 19§ = 102 25,000
L =D InE 200,002 * 30%S 6,000
~SE 0BiHOl R
34,0002 * 30 * 23] 2,040




2M: B2
HA: (YUHE ozt As(UVTDUE/AVHE)
Crel: BomglosHs (Srel )
S - B ERI(SH) - MISAY - BAS Of ko cla SimE==]
. (=2 S/ == 0:"&.0_‘” WsSa
S2RALD|EIE 4,549,635 4,241,441 308,194
201 LEt2 2| 3,240,720 2,641,120 599,600
01 At22teld] 91,020 90,820 200
OX@ MEts =25 &7l
100,000& * 65 600
O=4=X2d8s & &S
70,000& 2% * 33| 420
OS2R& LA /328 30,000,000 * 13 30,000
O 12 & dejag T2 2
20,000,000 » 14 20,000
O3& g 40,000,000& * 14! 40,000
02 B2 40,000 40,000 0
OHFEZEIABHSIH  40,000,0002 * 14] 40,000
03 A2 46,200 20,000 26,200
OZSRAsTH 2= &0ts ste el
20,000,000 * 14 20,000
OXJA HZ 3t stote &AL
26,200,000& » 14 26,200
04 LEASAHES Al B 3,063,500 2,490,300 573,200
O32& =SNELUE 2,048,000,000& = 1A 2,048,000
SECENRIE=F T ESIENE-HIE
166,500,000& * 14! 166,500
Oz Szl 350,000& * 740X 259,000
O32E N2 500,000& = 1,1809H 590,000
204 A=A L| 421,200 381,000 40,200
03 SEHRAH| 421,200 381,000 40,200
Otelgst| 50,000& * 7008 * 123 420,000
Oot=stiitiSa=t| 50,000& » 29 * 123 1,200
301 LEIEEZ 27,250 20,000 7,250
09 HALAHIXIE S 7,250 0 7,250
O3RI2ZX MK HASHHE )
100,000& * 50 * 13 5,000
OEIFMNAN BRA22X HEX| ASH(HHHES)
750,000& * 39 2,250
12 JIEt243 20,000 20,000 0
OAEE S EdHIE X
20,000,000 * 1 20,000
303 L& 307,200 640,900 A333,700
01 Z&Z 307,200 640,900 A333,700
ORYHIRR S H&X $ixior
300,000& * 50 15,000
ORAME A 80,000& * 1,350 13 108,000
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SA: &2
B NXHY DE(UNDTHY/AUBE)
o)t AlRIZAlSl HRIAIN (=I5
SN - BB B - NBAR - BYS Ofl Aot daz MimE==
0l &t
201 LBet2AH| 600 600 0
& 600
01 AtR22teldl 600 600 0
O&olo &4 =828 s M&E
600,000& = 14! 600
= 600
301 LdEtENZ 2,400 2,400 0
= 2,400
09 SAIAHIXIA 2 2,400 2,400 0
O&E0I9 & At AT AHIEA
60,000& * 40 2,400
& 2,400
DMSHO HAAMBIA NS 282,506 264,984 17,522
= 4,500
Al 278,006
NHSAIOIBHA A A 258,706 237,984 20,722
201 LBt2AH| 97,572 97,688 A116
01 AFR2te(d| 97,572 96,688 884
OF0SES &2 4,230 * 450 « 128 22,842
OF0S=EZ 23 428 79
20,000& * 4F * 19904 1,520
OxoIEE S22 21 7Y
30,000& * 52tA % 19JHA 2,850
Oatdt & =sH ROl 1,000& * 3,0000H 3,000
OAISITHAMAIRI RS &4 =5
70,000& * 20 * 13 1,400
OAICITHAL AHTH HIZ 500,000& * 4¥ 2,000
OYUIAIDITH XIZ 300,000& = 29 600
OF2I |2 L ANEFERZ2XE 2-AHH
100,000& * 200H 2,000
OB M= 16,000
—SL0|SUT HF
100,000& * 10Y * 123 12,000
—J|E} QI2tO1 HEF 100,000 * 40Y¥ 4,000
OEg OIS& S22 Mz
100,000& » 20H 2,000
OHFHESIMA QG PIH FHA G
70,0008 = 4H * 123] 3,360
ORIKAXNS S04 ets: B}
40,000,000& = 14! 40,000
301 LEt8AZ 135,000 121,000 14,000
12 JIEt2 A2 135,000 120,000 15,000
ONUXAZ 300,000& * 450¥ 135,000
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